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1. Divide Tzt — 2% + 62z + 2 by
4r — 8 — 222 and establish the relation that

Dividend= DivisorxQuotient+ Remainder.

o Watch Video Solution

2. If a polynomial
6z* + 8x° + 172* + 21z + 7 is divided by
another  polynomial 3z® 4+ 4z +1 the
remainder comes out to be axz + b [find a and

b.
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https://dl.doubtnut.com/l/_G2EhIC9g42EV
https://dl.doubtnut.com/l/_vUciwrtXKzeO

| ¥ Watch Video Solution |
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3. 3 is a zero of the polynomial

6x°> — 31z + 30z — 8. Find the other zeros.

o Watch Video Solution

4. If 2+ ,/3 are zeroes of the polynomial
2x* — 523 — 1222 + 11z — 2then find the

other zeros.

o Watch Video Solution



https://dl.doubtnut.com/l/_vUciwrtXKzeO
https://dl.doubtnut.com/l/_yvQ3e6LCgGKY
https://dl.doubtnut.com/l/_KTG3u5lzNwpG

1. Divide:
z* + 523 + 1322 + 21z + 12 by z® + 3z + 2
and establish the relation that Dividend=

Divisor x Quotient + Remainder

o Watch Video Solution

2. Divide:

° — 4z’ + 2 +3x+1bya’® -3z +1 and


https://dl.doubtnut.com/l/_6p7ZE5JyRnLq
https://dl.doubtnut.com/l/_XnALUSi56j9a

establish the relation that Dividend= Divisor x

Quotient + Remainder

° Watch Video Solution

3. Divide:
6z* + 8x° + 17z + 21z + 7 by
3xz2 + 4z + 1 and establish the relation that

Dividend= Divisor x Quotient + Remainder

o Watch Video Solution



https://dl.doubtnut.com/l/_XnALUSi56j9a
https://dl.doubtnut.com/l/_NF2sFnoDCAjD

4, —2 is a zero of the polynomial

3 + 222 — £ — 2,find the other zeroes.

o Watch Video Solution
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5. 1 is a zero of the polynomial

4z3 — 2322 + 3z + 9, find the other zeroes.

o Watch Video Solution



https://dl.doubtnut.com/l/_ns96yHqLMPNA
https://dl.doubtnut.com/l/_5FjYNz57biaA
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6. 5 is a zero of the polynomial

10z — 23z% + 2z + 8, find the other zeroes.

° Watch Video Solution

7. If the polynomial
6z* + 823 + 1722 + 21z + 7 is divided by
another polynomial 3z% + 4z + 1the
remainder cames out to be (ax+b ),find out a

and b.

° Watch Video Solution



https://dl.doubtnut.com/l/_VdEQdPGVWhI5
https://dl.doubtnut.com/l/_s7dWFKEfbUZd

8. Find the value of a and b so that

z* + z° + 822 + ax + bis divisible by z* + 1.

o Watch Video Solution

9. Find the value of a and b so that
6z + 823 —5z2 +ax +b is divisible by

222 — 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_s7dWFKEfbUZd
https://dl.doubtnut.com/l/_58ih8aR7NFqh
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10. If —4/2 and /2 are the two zeroes of the
polynomial 2z* — 32> — 32? + 6z — 2 find

the other two zeroes.

o Watch Video Solution

M. If two zeroes of the polynomial
z* — 62° — 262% + 138z — 35 are 24+ .,/3

find other zeroes.

o Watch Video Solution



https://dl.doubtnut.com/l/_YxkZSkovvBHp
https://dl.doubtnut.com/l/_pqcOx9L5tdjx

12. If 3—+/2 is a zero of polynomial.
z3 + bx? + 13z + cthen find the b and c

where b and c are rational numbers.

o Watch Video Solution

13. If 4+./5 is a zero of polynomial.
x> + bx® — 5z + ¢ then find the b and ¢

where b and c are rational numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ni7Cyu2J5R20
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https://dl.doubtnut.com/l/_2vDLbcdEY3ek

14. If a polynomial f(x) is divided by x — a
,whose quotient is g(x) and remainder

r(x).express f(x) in term of others.

o Watch Video Solution

15. If o, B, are the zeroes of the polynomial

ax® + bz + cthen o + B°=

° Watch Video Solution



https://dl.doubtnut.com/l/_2vDLbcdEY3ek
https://dl.doubtnut.com/l/_WEnK7VZWWHKA

16. If 2+ ,/3 is a zero of a quadratic

polynomial.write the other zero of it.

o Watch Video Solution

17. Write the number of zeros of the

polynomial f(x) whose graph is

)

% [\/ =

o Watch Video Solution



https://dl.doubtnut.com/l/_Zszyou9Cd6Z0
https://dl.doubtnut.com/l/_oR3XhpUDnESK
https://dl.doubtnut.com/l/_qEPp84d64vpt

18. If

p'+q¢ = (p°+zpg+q°), (v — zpg+ ¢°)

Find the value of x.

o Watch Video Solution

19. Fill in the blank:

The degree of a zero polynomial zero is

o Watch Video Solution



https://dl.doubtnut.com/l/_qEPp84d64vpt
https://dl.doubtnut.com/l/_2C0N8TrT3sZb

20. Fill in the blank:

The of a polynomial are the x-

coordinates of the point of intersection i.e.

where y coordinate is

° Watch Video Solution

21. Fill in the blank:
The product of zeros of the polynomial

322 — 7z + 6is

° Watch Video Solution



https://dl.doubtnut.com/l/_AmvKNZCtK9ws
https://dl.doubtnut.com/l/_d9dLKAqGBHfY

22.Fill in the blank:
The sum of zeroes in the polynomial

axr’ — bx + cis

° Watch Video Solution

23.Fill in the blank:
Degree of remainder of the division of a

polynomial is less than a degree of

° Watch Video Solution



https://dl.doubtnut.com/l/_d9dLKAqGBHfY
https://dl.doubtnut.com/l/_Jzin2YRpJ0aG
https://dl.doubtnut.com/l/_o5zeijOM34AL

24. The graph of a linear polynomial cross the

X-axis

A. Once

B. Twice

C.Three

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8iklBfkNjrFR
https://dl.doubtnut.com/l/_eONwi4rRwfHw

25. If o and B are the zeros of the polynomial

3x? + 8z -+ 5 then find the sum of zeros

A8
5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eONwi4rRwfHw

26. If o and B are the zeros of the polynomial

11
z? + bz + ¢ the polynomial having E,E as

its zero is

Az>+cr+b
B.z2 —cx + b
Cocx’? +bx +1

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_cxAXsHZoAlwj

27. If zeros of the polynomial z? — bz + ¢ be

reciprocal to each other then b equals to

A b

B.1

D.1/b

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GfSdMvCNL8ug
https://dl.doubtnut.com/l/_Qyx2Tp4Oy2Qy

28. If the zeros of polynomial 2% + bz — ¢ are

equal and opposite then b equals to

A.b

C.1

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Qyx2Tp4Oy2Qy

